| Efficiency vs Dxy |
0.1

5 S
0 0.09F i der bbb
< A T T
R e
o A T T
Q 0.07 it
0B
T R —
004 b
003

Xy

eff

5 R e o o s
s Tt o

1.

Ratio

=
!

098 56-15-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_TT__mkFit-DQM_mod-127

| Efficiency vs Dz |

—— DQM_TT__mkFit-DQM_mod_updated-127

0.8

0.7

....................................................................

0.6

efficiency vs dz

0.5

0.3

0.2

....................................................................

0.1

O R e oo R

. o i

J..LQ 11 1 | + 11 1 1 .F L1 1 1 + 11 1 1 +
P

- v -

Ratio

A-He S SR T TTT PP EEPEEPEE

10 2030
TP dz (cm)



	Contents
	Page 1


